18.

19. Given R = wLQ 0 =8k atw AL
r

20.

21.

22.

23,

Piot on the same graph the curves of the following system of four
linear equations. Plot each curve for the range of x shown.

2y - 5x =5 -1 1 (L)
Ix+ 2y =13 1 3 (Ly)
2y —3x = =5 3 5 (L;)
5x + 2y = 35 5 T (he)

The four linear curves form the letter
(1) W, 2) Z. (3) F. 4 M.

X
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Solve for R in terms of L, C, and r. (Hint: substitute for Q in

()R = LvL wl the first equation and

rvC Yt = Cr simplify. Next, substitute

for w? and simplify.)
L rL
Qk= . W Ras

Solve the fourth-order linear system

3x -2y + 22 + 4u
2x + 3y + 2z + Su
5x -2y + 52 ~-u
4x — 6y — 6z + 2u

-3
6

-4
-2

The value of x is
(1) L. ) 2. .(3) 3. (4) S. () 8.

The value of y in Question 20 lies in the range
M -1<ysl (3)2<y = 3.
2 l<ys=s2 4)3<y =4

The sum of the values of z and u in Question 20 lies in the range
() -6 Sz+u s -4 B) =2=z+u=s0
(2 -4 Sz+usg -2 4 0=z+us2

: Ae Ae Ai
Given u-K-é-‘i "-K?f g_-Z;.”.

Find g in terms of r, and g,,.

ol _ Tplis + 1)
(1) w= 2t 3w p

QDu=rgan @gu= %—
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